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Time : 3Hrs. Sem - V/Cer  
Con. Eng. Dwg.

Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer One questions from Group B, question 

carries 20 marks.

Answer One questions from Group C, question 

carries 30marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

P.T.O

GROUP - A

Set square is used to draw line at an angle
0

(a) 180
0

(b) 240
0

(c) 45
0

(d) 120

Isometric view in the drawing is drawn at an 

angle of
0

(a) 30
0

(b) 45
0

(c) 60
0

(d) 90
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OR

Figure given in Fig - II is to be drawn in 1 : 2 scale.

Fig - II
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(iii)

(iii)

(iv)

(ii)

Drawing made after seeing the object from 

the top is

(a) Elevation

(b) Plan

(c) End view

(d) Isometric

(a) 210 ´ 297 mm

(b) 297 ´ 420 mm

(c) 594 ´ 841 mm

(d) 841 ´ 1189 mm
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3

Fig- 1

Fig- 1  
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(iv)

(v)

(v)

(vi)

A4  

Convenient size of paper to keep in a file is

(a)  A4

(b) A3

(c) A2

(d) A1

Scale of enlargement in drawing is

(a) 2 : 1

(b) 1 : 2

(c) 1 : 1

(d) None
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                 GROUP  - C

30 x 1 = 30

3.Figure given in Fig- 1 is to be drawn in 1 : 2 
scale.

OR

Draw flowers design to be put on ceramic transfer 

paper using free hand.

30

NT5009 NT5009

Answer Only One Questions.
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(vii)

(vii)

(viii)

(vi)(xx)

Answer Only One Questions.
20x1=20

2.

20

Object line thickness in A2 size of paper is

(a) 0.5 mm

(b) 0.7 mm

(c) 0.25 mm

(d) 0.35 mm

A2 

T- Square is used to draw

(a) Vertical lines

(b) Horizontal lines

(c) Angular lines

(d) Any line

Draw free hand sketch of a glass water jug.
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(viii)

(ix)

(ix)

have.

(a) Conical point

(b) Triangular point

(c) Square point

(d) Any type of point

compass, is drawn by

(a) French curve

(b) Protractor

(c) Set square

(d) Bow compass

(a) 15 cm, 20 cm

(b) 20 cm, 30 cm

(c) 30 cm, 35 cm

(d) 45 cm, 45 cm

angles to one another is

(a) Protractor

(b) French curve

(c) Drafting machine

(d) Set square

1613504

(x)

(xviii)

(xix)

(xx)

(xix)
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Hard range pencil used for accurate layout 
work is
(a) HB
(b) H
(c) 2H
(d) Any pencil

to enable the production of that component 
eg, the size of a bolt head, is known as.
(a) Non functional dimensions (NFDs)
(b) Functional dimensions (FDs)
(c) Auxiliary dimensions (ADs)
(d) None

T-square moves vertically, is

(a) Working edge

(b) Ebony

(c) Battens

(d) Bottom

0
(a) 120

0
(b) 190

0
(c) 30

0
(d) 90

(xi)

(xi)

(x)

1613504

(xii)

(xvii)

(xvii)

(xviii)

(xvi)
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(a) Lengthening bar

(b) Bow compass

(c) Straight bar

(d) Set square

(a) Circular

(b) Square

(c) Hexagonal

(d) Triangular

Drawn lines can be removed by using
(a) Duster
(b) Eraser
(c) Chalk
(d) Fluid

Ink pen is used for drawing.
(a) Straight lines
(b) Square
(c) Angles
(d) Curves

(xiv)

(xv)

(xv)

(xiv)

(xii)

(xiii)

(xiii)
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(xvi)
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